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Note : Question No. 1 is Compulsory. Select fo’ur qv.:estions in s i !I
all, one question from each unit. : 1! e
-
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Compulsory Question B |
- i gt |
1. (1) 'Whatis the difference between hardwired crganization bi ;1 l
and microprogram organization? 2) = éj"
v v
{ii) How do you identify whether the instruction is memory l i E‘f
reference or register reference or I/Q instruction. (2) !‘.( .{‘E:»"
(iii) What is. the difference between micro-operation ‘and R
| > ké : :;;;1
macro-operation ? - 2 Lo
. fe i \ Sk
(iv) What is the difference between external and internal b ‘é
- interrupts. = : s {25 e i.;fl
UNIT-I e o 5
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2. () Explain the common bus system? How the data is | ’:;d
. manipulated? : (3) t h:;q
(i) Explain the different memory reférence instructions ? '9; ':;,.
¢ 7 s .h?q‘él
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Design the block diagram of contro] Unit of 4
'computer ? Also draw Timing diagram, (6)
(i) What are the two instructions needed in thé basic
computer in order to set the E flip-flop to 1 2 )

: UNIT-1I
4. Design an arithmetic circuit with one selection variable
S s and two » bit datg inputs A and B, Draw the logic
diagram for the. first two Stages. Sy

8L = Cp=1 : ;

i 8 Dk B D = A + 1 (increment)

1 O (decrement} D= A +B+1 (_ftibtmct) ,

i ik , ®)

(i)  Explain different types of shift 'rhicro-opcfations T b

q 5. () Draw and explain the puys System using: three state

4 buffer and: g decoder instead of multipleness ang

g .~ also show the connection to transfer the data from

¥ | register A to register C. There are 4 registers of 4 big

f ' each, A2

"-'_ (i) Explain hardware implementation of logic micro-

" . operations ? : ©))

UNIT-I11

‘ 6. () Write a note on the following : _

(a) Control memory, 2
(b) "Microinstructibn. =
(c) Mféroprogram. ()
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i) The control memory has 4096 words of 2ibls eheh o 0
(@) How many bits are there in control address '

register ? 2 65} : :
“(b) qu many bits are there in each of four mput \
going to multipleness ? Slay |

(¢) What are the number of mputs ‘in each

multipleness and how many multiplensss are
needed, L@

7. Write a note on microprogram sequénces? - : 8

!

~.

" UNIT-1V
8. Explain various add:essmo modes with example %

(8]

9. (1) What are the various program control mstrucnons ?
(6)

@ A computer has 32 bit instructions and 12 bit addresses
If there are 250 two address instructions, how many

one address 1nstruct10ns can be formulatcd 2 . Wk
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